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Q-1 Answer the following questions by choosing the correet answer from the options provided. (30)
y-q ofl Aot YAletl Griz et @scdial oLyl URE 53lal UL (30)

01 According to the Preamble of the Constitution of India. which type of democratic system has been adopted

in India?
a. Monarchy bh. Dictatorship ¢. Republic Democracy d. Socialist Democratic
04 eUReetl it 20lell Yaeliclotl Haul el et 52l usiRel Alseudl carciaat wuetccHi wuidl 82
u, AW AEL o, AuRAE 5. uAATs AsEl s, et €l clseuél
02 The Untouchability Offences Act, 1995 is currently known as which of the following?
a. Protection of Civil Rights b. Constitutional c. Article 19 (d) d. Legal Right
Act Amendment
0?2 YR ALY AR 12eU oMl sl ot AL 87
w QAR w52 o oitRela YU 5 BepBE 19(d) S AL w(As12
Aag wuEan
03 In which part of the Constitution of India are the Directive Principles of State Policy discussed?
a. 06 b. 04 o) d. 0l

03  GURdell titllR0tell sl UItHL 1L ofldstt wolesls Rl cloll ul sraunl wudl 82

. 0% “. 0¥ 8. 1 5. 10%

04 How many Fundamental Duties were added to the Constitution of India by the 43
Constitutional Amendment. 19767
a. 08 b b3 ol d. 10

0¥ ¥2ui vituzella YRl 195Ul iR et WuRRML Yol yoeiet 5299 GRRaH well?

¥, 0C oL 43 5. ¢ S. 10
05 If the office of the President becomes vacant for any reason. within what time should it be filled?
a. 06 Months b. 01 Year ¢. 02 Years d. 09 Months
ou 20U UE ABURL 512 wiell ud dl A Beat a2 g AsA?
w06 HRsll o, 01 o 5. 02 ad 5. 0¢ H[gell
06 Who has presented the highest number of budgets in the Gujarat Legislative Assembly”?
a. Suresh Parikh b. Vajubhai Vala c¢. Chimanbhai Patel d. Narendra Modi
05 2l QustuieuHi Alell ay uge 35U 513 87
. Yo udlu ol AYeLE alo 5 Almelols UBA 5. ot2os HIEL
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So far, how many times has a state of emergency been proclaimed by the President of India?

a.03 b. 04 c. 02 d. 0l
sz ytll secll avd ettRdetl AUl sl 53l5dloll adAct seuml el B

¥, 03 W, 0¥ 5.0 5. 0%
Every how many years does the President appoint the Finance Commission”

a. Every year b. Every 03 year ¢. Livery 10 year d. Every 05 year
U@ €2 bect a sl [ues 53 &2

. €2 a¥l o, €203 ay 5. £2 10 a¥ s. e 04 a¥
When was the first Lok Adalat organized?

a. 06 October 1985 b, 17 June 1965 ¢. 08 November 1948  d. 31 December 1952

AysH Als WELA o] Ao KR SRCAHL AR

20 WAl 1eCd 6l A8 el 165U 5 0¢ dAQMR 1e¥¢ 5,31 SlAR 1eur
Who is the current Chaitman of the NITI Aayog?

a. Dr Suman Beri b. Amit Shah ¢. Sitaraman d. Narendra Modi
Aot o(l[Q el wWrlet 3L 82

. §l Yuet ATl o, wct we 5. AlclMet 5. ol20% HIEL
Name the first bowler in the world to take 165 wickets in Twenty20 Internationals.

a. Kuldeep Yadav b. Murlidharna ¢. Rashid Khan d. Hardik Pandya

A 20d BoAUACAML 165 (AbE BSUIR [RQatetl UdEL AR of attid Ul
W, geglu e o, HelluRet 5. 2A2(lE Wtet s. 8l(€s usaul

Which award was recently given to UK Prime Minister Keir Starmer?
a. Living Bridge b. Nobel Prize ¢. Booker's Prize d. Agreement Star Trade
Y¥otl WAM 812 R1HRA AFARHL sl WAS vALUCUMlL vaLell?

u, (@1 ofl ol, A YL 5. o5 ulBH s. AYlAe2 AR 25

If traders do not pass on the benefit of GST reduction. at which number can consumers lodge a complaint?

a. 1919 b. 1915 c. 1909 d.1901
Quidlall o A udl Yatstoll Al ot A dl U85 sl ool BUR sRaue 53 s

U, 1e¢ oL ¢ 5. 1¢OcC 5. 1601

When will the 100% tariff on foreign drugs imposed by Donald Trump come into effect?
a. 15 November b. 31 December ¢. 01 October d. 25 January

ottes 2iu A @2l £zl uR A 25t ctoucll dell UHA sl 4

W, U AR o 32 B 5. 01 sl S. U e ulldl
From which platform did India successfully testa missile and make history?
a. Airplane b. Train c. Bus - d. Helicopter
ez awniell Rausae] s udlag 53l slde 2220
. AA ol et 5. L™ s. dlAs\er
For how many months was the tenure of CDS General Anil Chauhan extended?
a. 8 b. 9 ¢. 10 d. 12

AR otz URA Wsiatell stelsin deet HEet dotaH w(eA?
A ol. ¢ §. 90 S, 1%



17 Which is the oldest and most reliable fighter aircraft of the Indian Air Force that was recently
retired from the Air Force?
a. Sukhoi b. MiG-21 ¢. Ralale d. Tejas
Qo allecdla cudetl ott s Wlell et A Al Quella ste5e? ARsLERA AlBARM

Az Al wiell Qe el wcl?

a. Yol b, Roa-R4 c. ¥c d. Axy
18 Name the team that recently won the first Super Over match in the Asia Cup tournament.
a. India b. Pakistan ¢. Sri Lanka d. Bangladesh
Qe ABdHl AR sU gellNoe i udcll Yur AR Dl QR 1A Ano] ot w Ul
U, elkd ol ullrettet 5. llcisl . widt

19 Instead of different toll-free numbers. the Gujarat government has made all types of services available

through a single toll-free number. Which number will be used for this service?
a. 108 b. 100 c. |8l d. 112

1 el WA A f A A HEA AU UBR A s At 4 sietell dmid ysizell AaRA
Guelokl U2 A cacaul sl slorz Ul uiud 22

W, 10¢ o, 100 R TA LT
20 National Sports Day is celebrated on the birth anniversary of whom?
a. Mukhan Singh b. Major Dhyan Chand ¢. Khasaba Jadav d. Gopal Bhengra
20 Astetel WE 3 adu 3 Slell epont el A Goalaun wld B2
. YugRla ol N LAl UE 5§ WML SIEC 5. WA Aot
Q 21 to 25: Read the following carefully and answer the questions. (05)

A new narrative is being told on social media that the British introduced a rigid caste system in India. Before
the British documented caste in their records, caste was actually a fluid varna system. You could choose to
be Brahmin if you wanted to, and Shudra i that was your aspiration. This is a lie. of course. Social mobility
existed only amongst the elite. It was not for the *impure” castes. the *‘untouchables'— the lowest of the low.
Caste impacts 100% of Hindu society while untouchability impacts 20% of Hindu society. But that lower
20% was sometimes seen as outside the Hindu fold. until their votes mattered in the 20th century. One needs
to read 18th century court chronicles of Rajput. Maratha and south Indian states to see how casle was
enforced through the doctrine of purity and the enforcement of untouchability. In the Deccan under the
Peshwas, caste was written into everyday Marathi speech and into official documents. The village proverb
repeated endlessly placing the Mahar at the level of perpetual servitude and the Brahmin at the altar of ritual.
Another saying warned that eating in an untouchable's house destroyed one’s religion. These were not stray
sayings; they condensed the common sense of a society where caste hierarchy was assumed as natural.
(Source: The Economics Times, New Delhi Edition; 27 September, 2025)
Questions:
21. According to the passage, what is a common misconception about caste in India?

A) Caste was rigidly enforced by the British.

B) Caste had no influence on society.

C) Social mobility existed for all castes equally.

D) Untouchability affected all ol Hindu society.
22. What percentage of Hindu society is directly affected by untouchability, according to the passage?

A) 100%

B) 50%

C) 20%

D) 10%




23. How was caste enforced in the Deccan under the Peshwas?
A) Through British census records
B) Through Marathi speech and official documents
C) Through universal education
D) Through religious conversion
24. Which of the foliommc, statements reflects the societal view described in the passage”
A) Eating in an untouchable’s house had no social consequence.
B) Untouchables were fully integrated into Hindu society.
C) Caste hierarchy was considered natural and unguestioned.
D) Social mohlln\ was freely available to the lowest castes.
25. What does the passage suggest about social mobility in historical India?
@ A) It was widely available to all castes.
B) British rule introduced social mobility.
C) Untouchables could easily become Brahmins.
D) It existed mainly for the elite castes.
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BOLD AND UNDERLINE OPTIONS ARE THE CORRECT ANSWERS
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Q-1 Answer the following questions by choosing the correct answer from the options provided. (30)
y-q ol Aetl YAl Grir WA Asclui 2l 2 esclol e s3lal 2L (30)

01 If the office of the President becomes vacant for any reason, within what time should it be filled?

a. 06 Months b. 01 Year c. 02 Years d. 09 Months
0a 2Agulde] UE SLEURL SLRBUR vl W3 A Q decl uHaHi el tg ofle5 A7
.09 Ml o. 01 ad 5.02 ad 5. 0¢ H(@ell
02  So far, how many times has a state of emergency been proclaimed by the President of India”
a.03 b. 04 c. 02 d. 01
02 R Yl ¥edl avid eureetl 22 U@ a2 521586l MERAA s2AML el 82
w. 03 ol. 0% 5. 0% 5. 0%
03  Who is the current Chairman of the NITI Aayog?
a. Sitaraman b. Amit Shah ¢. Narendra Modi d. Dr Suman Beri
03 admiotil «l@ vueil utau SQL 8?7
. llclrRMet o, Wil we 5 ol 206 WIEL 5. Sl yHet A
04 Which award was recently given to UK Prime Minister Keir Starmer?
a. Nobel Prize b. Living Bridge ¢. Booker's Prize d. Agreement Star Trade
0¥ Ydell WA SR RIRHRA AR AR ML 520 AAS WML BRI
W, AR YL o, (@R ofl 5. o5 YIB™ 5. A Nee AR ¢S
05 When was the first Lok Adalat organized?
4. 06 October 1985 b, 17 June 1965 c. 08 November 1948  d. 31 December 1952

ou yuH A WUELAe] WSt 5UR gAML cR)?

w05 AR 1ECY Ol 19 Yot esH 5 0¢ AR 1E¥C 5.3 SR 1EUR

06 Every how many years does the President appoint the Finance Commission?

a. Every year b. Every 03 year c. Every 05 year d. Every 10 year
os wwuld £2 sec a¥ stteud uoll AHes 52 87

w, g2 adl o, €203 ax 5 g ou ad 5. €210 a¥l
07 Name the team that recently won the first Super Over match in the Asia Cup lournament.

a. India b. Pakistan ¢. Sri Lanka d. Bangladesh
08 ARl AR su gollAeeHl udcl YuR Az Aun ARl 2dct e ot el

u, @R o, UL(Bretlot 5. sllcisl 5. Gt
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If traders do not pass on the benefit of GST reduction. at which number can consumers lodge a complaint?

a, 1919 b. 1915 c. 1909 d.1901
Audladl e Aud uatstell ctel ot W dl S8l 52l sietz GUR slRaule sl aAsd?
W, Ve o, 1M 5.4¢0¢ 5. RGO
For how many months was the tenure of CDS General Anil Chauhan extended?
a. 8 b. 9 ¢ 10 d. 12
QAR ot URE Aslglell stlsin sacl R el AvttelHl 2Le?
. ¢ . € 5.0 5. 52
In which part of the Constitution of India are the Directive Principles of State Policy discussed?
a. 06 b. 04 c. 1 d. 0l
AlL2 clotl GlulRRLell 5L GULILHL AXAU Rt 1ol els Raidle(l ual sauxl il 82
A, 09 o 0¥ 5. 11 5.01
When will the 100% tariff on foreign drugs imposed by Donald Trump come into effect?
a. 15 November b. 31 December ¢. 01 October d. 25 January
Slotics 2ru A AR el ecuxd uR A 28l coleall Aol wHd sl ud?
B, U AR w31 RAR 5.0 A seluR 5. U Aeguldl
Who has presented the highest number of budgets in the Gujarat Legislative Assembly?
a. Suresh Parikh b. Vajubhai Vala c. Chimanbhai Patel d. Narendra Modi

o1t [AriiotenHl el ay w2 % 520U 53l B?

TR VELTRVEL P o, ageus alnl 5 dlotol UBE 5. otRoh HIEL

Which is the oldest and most reliable fighter aireraft ofthe Indian Air Force that was recently
retired from the Air Force?
a. Sukhoi b. MiG-21 ¢. Rafale d. lcjas

ozl cugdett ot st Wl xetl Q2 Ratellal 518522 BARsLgeA AlBARML
A28l igl etz vuai wudll?

a. YWl b, (o214 c. ¥ d. Aoy

Instead of different toll-free numbers, the Gujarat government has made all types of services available
through a single toll-free number. Which number will be used for this service?
a. 108 b. 100 c. 18l d. 12

WAL UA At §l olur A HEA ¥R s As o Act A stoRdl MM ysizell Aard
GuEct U2 A el sl ook Ul Yt a?
u, 10¢ W. 100 5. 1¢1 5. 1R

How many Fundamental Duties were added 10 the Constitution of india by the 42™
Constitutional Amendment, 19767
a. 08 B 3 & 15 d. 10

w2l ituzella Yuil 1¢9sdl aRdell situtreudl deddl Haeldt 591 GHRaUM el

w, 0¢ ol. 13 5.¢ 5. 10

According to the Preamble of the Constitution of India. which type of democratic system has been adopted
in India?

a. Monarchy b. Dictatorship ¢. Republic Democracy d. Socialist Demaocratic
a2 ctotl vl 2atell Yrelelotl Hosol BlReHL 52 ysizoll Alsaudl ccteal WustladMl il 8
., A8l ol HRHURRWE & URUUS Asdl s, aHradl dlsadl

2



|7 National Sports Day is celebrated on the birth anniversary 0 fwhom?

a. Mukhan Singh b. Major Dhyan Chand ¢. Khasaba Jadav d. Gopal Bhengra
19 Asletet WE 3 & 3 Bloll %oH og2icll A GoselcllHl A B2
w, HueRly o, NR LAAUE g WG e $. dNULE @Aetdhl
18 From which platform did India successfully test a missile and make history”
a. Airplane b. Train c. Bus d. Helicopter
1¢ ard aidl Audad] asn udlarl 53| sl A
. WA o got 5. WU 5. dAsler
19 The Untouchability Offences Act. 1995 is currently known as which of the following?
a. Protection of Civil Rights b. Constitutional c. Article 19 (d) d. Legal Right
Act Amendment
e WRYRLAL HUURY wRBlaH 12U AcdHistHl 5L o 8?
w RRa ul@sR o ozl YRl 5 wABE 19(d) S slaelfla u@sR
drew wAan
20 Name the first bowler in the world 1o take 165 wickets in Twenty20 internationals
a. Kuldeep Yadav b. Murlidharna ¢. Rashid Khan d. Hardik Pandya
20 8l 2208l BozARUACML 165 (AFE BSUNR Raletl U AR of ot Ul
. seflu aed o, Yelluzet 5. 2A2LE vilat s. 8l(Es usul
Q 21 to 25: Read the following carefully and answer the questions. (05)

A new narrative is being told on social media that the British introduced a rigid caste system in India. Before
the British documented caste in their records. caste was actually a fluid varna system. You could choose 1o
be Brahmin if you wanted to, and Shudra if that was your aspiration. This is a lie. of course. Social mobility
existed only amongst the elite. It was not for the ‘impure’ castes, the ‘untouchables'— the lowest of the low.
Caste impacts 100% of Hindu society while untouchability impacts 20% of Hindu society. But that lower
20% was sometimes seen as outside the Hindu fold. until their votes mattered in the 20th century. One needs
to read 18th century court chronicles of Rajput. Maratha and south Indian states to see how caste was
enforced through the doctrine of purity and the enforcement of untouchability. In the Deccan under the
Peshwas, caste was written into everyday Marathi speech and into official documents. The village proverb
repeated endlessly placing the Mahar at the level of perpetual servitude and the Brahmin at the altar of ritual.
Another saying warned that eating in an untouchable’s house destroyed one’s religion. These were not stray
sayings; they condensed the common sense of a society where caste hierarchy was assumed as natural.
(Source: The Economics Times. New Delhi Edition; 27 September, 2025)
21. What percentage of Hindu society is directly affected by untouchability. according to the passage”

A) 100%

B) 50%

C) 20%

D) 10%
22. What does the passage suggest about social mobility in historical India?

A) It was widely available to all castes.

B) It existed mainly for the clite castes.

C) Untouchables could easily become Brahmins.

D) British rule introduced social mobility.




23. According to the passage, what is a common misconception about caste in India?
A) Caste was rigidly enforced by the British.
B) Caste had no influence on society.
C) Social mobility existed for all castes equally.
D) Untouchability affected all of | lindu society.
24. Which of the following statements reflects the societal view described in the passage”
A) Eating in an untouchable’s house had no social consequence.
B) Untouchables were fully integrated into Hindu society.
C) Caste hierarchy was considered natural and unquestioned.
D) Social mobility was freely available (o the lowest castes.
25 How was caste enforced in the Deccan under the Peshwas?
A) Through British census records
B) Through Marathi speech and official documents
C) Through universal education
D) Through religious conversion
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apsatdll Wi 5@ e auatell 212002 Alall, clua dienal el oA cQuaatHl wa B.
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S oeell 53 B, swuatll HeslHL vER awellct 4R 2uet sl Hesla Uyl aRoll 5% B.
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A) A% sl uEa

B) & € 2otl allcy, Wi 53R 5301 e W AsaAd

0) AlsIR@s uzeuvll

D) Acllsti wal 58
00, 2R0ilell RRY 23Nl g WAA B?

A) HA 5L HR et Al

B) HIAA ol cdRe] Adllet

) Hictgoll @i ot A AL, Hedlsl AReslRs ol A d1R0{ 20l
D) HUI2L et M2
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Q-1 Answer the following questions by choosing the correct answer from the options prov ided. (30)
y-q oflAett YAotl Gl AUAA Rl Ao raiet URE s3lal L (30)

01 In which part of the Constitution of India are the Directive Principles of State Policy discussed?

a. 06 b. 04 ¢ I d. 0l
04 GlRctell GlulRQLetl s2UL GULILHL AL ARt 1oledls Agldlell Al sl wuidl B2
W. 05 ool 0¥ §. 14 5. 01
02  Who has presented the highest number of budgets in the Gujarat Legislative Assembly”
a. Suresh Parikh b. Vajubhai Vala c. Chimanbhai Patel d. Narendra Modi
02 dslct Rustaeii Well aby viBe Y sR 5L ©7
. Yo ulw o, YL aloll 5. et UBA 5. olRoq HIEL
03  Name the first bowler in the world to take 165 wickets in Twenty20 Internationals.
a. Kuldeep Yadav b. Murlidharna ¢. Rashid Khan d. Hardik Pandya
03 &l 2208l Bo2A2tAHl 165 (Ab2 BSUAR Qatotl UBAL AR of ol % ULl
. sAElU ALED o, YcdluRet 5. 2A2(lE Wiat 5. 8l(Es usul
04 When will the 100% tarift on foreign drugs imposed by Donald Trump come into effect?
a. 15 November b. 31 December ¢. 01 October d. 25 January
0¥  Seties 2xu A [Azell ezl ur Ml 2st coeall Aedl wH A seuell a8l
U, WU AR o, 3% BAR 5,09 lselu? 5. U el
05  According to the Preamble of the Constitution of India. which type of democratic system has been adopted
in India?
a. Monarchy b. Dictatorship ¢. Republic Democracy  d. Socialist Democratic
ou  ellRdell GiuiRQlell Yrellclotl oL R ctHl 5L ystell AlseUdl caucRal wustaaHl vl ©?
u, eomaudl o, MIHURURAEL 5 UXUTLS Asaudl s wHalel Alsauel
06  Who is the current Chairman of the NITI Aayog?
a. Narendra Modi  b. Amit Shah ¢. Sitaraman d. Dr Suman Beri
05 cdmietit ol el vtust 5L B2
w. olRos HIEL o, wUAct we g, dlctlRUHat 5. Sl yuat ARl
07 For how many months was the tenure of CDS\General Anil Chauhan extended?
a. 08 b. 09 ¢. 10 d. 12
oo dldRAu weired wRc Welglell sdsian Yo el HRoll clollatil well?
w. 0¢ ol 0¢ 5.0 5. AR
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When was the first Lok Adalat organized?

a. 06 October 1985 b. 17 June 1965 ¢. 08 November 1948  d. 31 December 1952

Alysn Als UELE cto] AU SR 5RAHL AR

w05 UsAGIR 1eCU O 19 Yot s 5.0¢ A2 1¢¥C 5. 31 SRR 1eUR

How many Fundamental Duties were added to the Constitution of India by the 42"
Constitutional Amendment, 19767
a. 08 b. 13 o 19 d. 10

w2ul oltrellal yuiRl 1¢9sell elRclott URRHL Yecll oo 591 GHRAML atell?

. 0¢ ol 13 5. 9¢ 5. 10
Which award was recently given to UK Prime Minister Keir Starmer?
a. Living Bridge b. Nobel Prize c. Booker's Prize d. Agreement Star | rade

2¥otl U131 412 RIRHRA B ARH 520 DS WU AL
. (@l oflos o, ARAA YL 5, oy UloY 5. AN AR &5

So far, how many times has a state of emergency been proclaimed by the President of India?
a.03 b. 04 @ OF d. 01

etz Y4l 3ecll cnd ettt AU sl salsdloll a2t sclml il 82

WM. 03 o, 0% 5. 0% 5.04
Name the team that recently won the first Super Over match in the Asia Cup tournament.

a. India b. Pakistan ¢. Sri Lanka d. Bangladesh

AR 2ul AR 5U gotl Noz i udcll YuR WaR HAH QB Al UdA ElHeq otim wRual.
. elRd ol Ullbcilot 5. 3llcist 5. ozl

From which platform did India successfully test a missile and make history?
a. Airplane b. Train ¢. Bus d. Helicopter

o2 el Rauece] s udlag 53 sldeix 22202
2, WAt o, got 5. 6™ s. dAdser

Which is the oldest and most reliable fighter aircraft of the Indian Air Force that was recently
retired from the Air Force?
a. Sukhoi b. MiG-21 c¢. Ratale d. Tejas

etz dlat cuzg@ett ot sa Al et 21 Wl Qauclla si5e? ArsLgeaA AlBAHL
Al uigll @eta suan el

a. YulS b. (o124 c. %A d. derd
National Sports Day is celebrated on the birth anniversary of whom?
a. Mukhan Singh b. Major Dhyan Chand  ¢. Khasaba Jadav d. Gopal Bhengra
Aatotct W 3 & 3 Blofl oot s2lcll A GoyetalHl wWd &2
. Ry o, AR tAAUE 5. WMo WEC 5. dNuLE Aatdsl

Every how many years does the President appoint the Finance C ommission?

a. Every year b. Every 03 year c. Every 05 year d. Every 10 year
AU €2 bt ail auguuiusdl (Hes 53 87
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17 Instead of different toll-free numbers, the Gujarat government has made all types of services available
through a single toll-free number. Which number will be used for this service?
a. 108 b. 100 c. 181 d. 112

9 A WA At ol A UEA IwRAc Aes As % A f durell i ysRell Qe
GUCol U2 A clcaal sl suR Ul Wit &

U, 10¢ ol. 100 RTA 5. 1R
18 Ifthe office of the President becomes vacant for any reason, within what time should it be filled?
a. 06 Months b. 01 Year c. 02 Years d. 09 Months
¢ ARUQe] UE SlETURL SIRRIUR wicll W3 A deal wHaMl @il td AGA?
w. 05 Hetl o, 01 ad 5.0° o 5. 0¢ H(Eal
19 Iftraders do not pass on the benefit of GST reduction. at which number can consumers lodge a complaint?
a. 1919 b. 1915 c. 1909 d.1901
we  awdlal pRudl uaistell ciet ot W Al s sAl elol? GuR sRae 53 ws?
U, 1EAC ol 1€ 5. 1C0¢ 5. 1€01
20  The Untouchability Offences Act, 1995 is currently known as which of the following?
a. Protection of Civil Rights b. Constitutional ¢. Article 19 (d) d. Legal Right
Act Amendment
20 UWYRAA UURAY ABERAH 11U Mol sl ol oA 82
u ARa u@sR o, oitRela YRl 5 WeRBE 19(d) S slaetsla wsR
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Q 21 to 25: Read the following carefully and answer the questions. (05)
A new narrative is being told on social media that the British introduced a rigid caste system in India. Before
the British documented caste in their records. caste was actually a Nuid varna system. You could choose 1o
be Brahmin if you wanted to. and Shudra if that was your aspiration. This is a lie. of course. Social mobility
existed only amongst the elite. It was not for the ‘impure” castes. the ‘untouchables’'— the lowest of the low.
Caste impacts 100% of Hindu society while untouchability impacts 20% of Hindu society. But that lower
20% was sometimes seen as outside the Hindu fold. until their votes mattered in the 20th century. One needs
to read 18th century court chronicles of Rajput, Maratha and south Indian states to see how caste was
enforced through the doctrine of purity and the enforcement of untouchability. In the Deccan under the
Peshwas, caste was written into everyday Marathi speech and into official documents. The village proverb
repeated endlessly placing the Mahar at the level of perpetual servitude and the Brahmin at the altar of ritual.
Another saying warned that eating in an untouchable’s house destroyed one’s religion. These were not stray
sayings; they condensed the common sense of a society where caste hierarchy was assumed as natural.
(Source: The Economics Times. New Delhi Edition; 27 September, 2025)

Questions:

21. What does the passage suggest about social mobility in historical India?
A) It was widely available to all castes. '
B) It existed mainly for the elite castes.
C) Untouchables could easily become Brahmins.
D) British rule introduced social mobility.
22. According to the passage. what is a common misconception about caste in India”
A) Caste was rigidly enforced by the British.
B) Caste had no influence on society. )
C) Social mobility existed for all castes equally.
D) Untouchability affected all of Hindu society.




23. Which of the following statements reflects the societal view described in the passage”’
A) Eating in an untouchable’s house had no social consequence.
B) Untouchables were fully integrated into Hindu society.
() Caste hierarchy was considered natural and unquestioned.
D) Social mobility was freely available to the lowest castes.
24. How was caste enforced in the Deccan under the Peshwas?
A) Through British census records
B) Through Marathi speech and official documents
C) Through universal education .
D) Through religious conversion
25. What percentage of Hindu society is directly affected by untouchability. according to the passage”
A) 100%
B) 50%

C) 20%
D) 10%
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